1. Find the value of %&%&6-%&%6, where % denotes
”change of sign” and & denotes "doubling".
Ans: -12


2. In a two-dimensional column wise array, X (9, 7), with each
element occupying 2 bytes of memory, with the address
of the first element X (1, 1) is 3000, find the address
of last byte of X(8,5).
Ans:
3. The size of a program is N. And the memory
occupied by the program is given by M = 4000 square root(N). If the size of the program is increased by 1% then how much memory size increased?

Ans: 0.5%
4.A graph is given and values for x and y are given as such. Find the relation between x and y?

   

x 



y

            0.999


0.00001


     10.09


1.02

           99.98


1.997

           1000


3


     9990


4.002

i)y=log10 x
ii)y=exp(x)

Ans :
5. Find whuich has the highest standard deviation  :i) 8,0,-8,0,8,-8 
etc

6. from the figure below tell what type of curve it is ?
i)y=tanx
ii)y= cosx
iii)y=x

iv)y=3+x

Ans :
